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Do o 0dlaiw]
[X,fval,exitflag,output,population,scores]=ga(fun,nvars,A,b,Aeq,beq,lb,ub,nonlcon,IntCon,options)

S o ) b 4 B Heiwd o (63959

S35y 098 askie Slg 0 @ bwg ol s L L g function gb 5l eslatwl b aS cul s e b g e Gan x5 pb :fun

e e a4 ules Gua 1l lde awlee 4 pla8l g 5400 (NVAFS) puewal yusio dawd Job & )by & WL U ) cul
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E'.?I:'| + E'.I:'E < ?I'D
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b=1
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Aeg*x = beg ol SYlre Canly Cuows ol polie [ Slo gw Me L gt Jbpbeq G
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e 3 555 presc Slo e & Jygo 3 29 (g0 drlye WAMMING |y delyy cddly ranad (gl et Sl 208 Lo ilo ol 2
ol Gloyieite 45 g0 50 e Db o3l b o] ol 0> e g Ib = zeros(nvars, 1) jeues I lg oo il

D9 o odliiwl by o] YL s pusd cgs Ub = @ %0nes(nvars, 1) jgiws 5wl (3) caduiv 33e K 5 iSa oS

X, 2 0,%; > 3 M) b= [0;-Inf:3] X, < 4,x; <1 WD ub=[Inf4;1]

(yaSuie b G ym b canl p3Y jelaie cpl (gl )15 3,18 (colie g (ggluel Jas e la Cudgime 1)) cus :NONICON
(Ceq Juo plys @) ;505 Gl el S g5l glo Cadgazes 5 (C Jlio plyis a) yiahl 4 )5 (golusls (sl Cdgaome
function [c,ceq] = mycon(x) g &)l
€= ... ¥ Compute nonlinear inequalities at x. Solol s e by Codgusw
Ceq = ... % Compute nonlinear equalities at x. Soluw s 6 Cydgasw

nonlcon = @mycon 8 ,gud )0 i f b Cudgase (8o S b Ly pa5 &ilG 31> 1,8 agu
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Db e ) @l Sl 23Y B3 Hotwd 4 o b et sla Codgicme (Byme Caa Jlie plgis 4
2
X3

2+ <1 function [C Ceq] = Nonlcons(x)
. ‘ C(1) = x(1)"2 + x(2)"2/2 - 1; nonlcon = @Nonlcons
C(2) = x(2)"2 - x(1)"2+1;
Ceq =x(1)*x(2)+x(2)-3;

xf>xi+1
X1X+X, = 3
3g5 033 41,3 NONICNO=[] conl p5Y il o cobusl b g (soluw Jod (slo cudgimme (glyls Al 5 )00 4o

s oy5) b 'bitString’ g4 5l (PopulationType) sueas clo pusio g5 OPLIONS |3 4" Sy90 1> 8A jgiwd jd 1) &S0
g oMl (ot i sla Cudgaze I ple5 ol (Hgd Lyl Co Ojg0 4

Solwmol s e gl Codgume Jlasl cs (wils 45 INTCON) rs dae £ 5l puonad (sl puiio 3959 Sy > 1Y LSS

295 a5 ki > Ceq=[] Wl
swio NUMeEl(NVArs) b <Gl sy, ol oo il o pusmo dde Sygo 4 &S puonad (sl puiito o)l jl (gl :INECON
a5 3 pusno dde clayuiie leis ) o) g el cpaw prenal (glb e a5 W o L blie by (Jle les a4 il
IntCon = [3,6,9] Sl ol 48,3
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g oo 3,5 L3,%e NS &5 Options = optimoptions(SolverName,Name,Value) ,sus jl oozl |, :0ptions

Sl b 1 A3l (o B e oS o oSl & g b dgad e ) S (3518 sl b basye (LS e S

options = optimoptions(‘ga’,Name, Value) g o3lizul 'ga’ ;I Solvername

a5, le Wil o puas BB Value g Name Ly a5 sla il

e SO &l L1y das i Ly Cudguse g dnge d> ler o Name ,» ‘ConstraintTolerance’ bl b e
) 2 DR X9 BB (H29T (P 9 2> U 0 ) ; .
Al oo deldl o3 )63 elynl il yidis odd Cpess 3 5l b Cudgasme | Jast e ool Candy dige Ol

L 4 'gacreationuniform® 5 Name , ‘CreationFcn’ I g o aJgd Jws My cos

S0 odliiwl Value ;s (5l 558 s cla codgame (glp &S 5,5 iw ,lade) 'gacreationlinearfeasible’

g0 ddgl Jus 1y 4 plu8l s value jd olgsds il yxe b ol o fpien
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h e ol alg o )8 & algs oy i |y gugs Slos b basije @b g5 ol .« Name ;> ‘CrossoverFen’ clsal b @

/crossoversinglepoint’ /crossoverheuristic’ /crossoverscattered’ :l  uS,ke wls  obwsl Value Ly

el cas Jlaine olesds miles lgi o pizes Jcrossoverarithmetic’ ; 'crossoverintermediate’ /crossovertwopoint’
Dges Byxe ValUe & g i |y gy Slleas
il o) a8 ad codgie ety Sl lp b9y ol i(Crossoverscattered) susly mgy Xlos 3,Sles 6950
Sy e (g9l &S b pl Sl sle Cundge 530S o gl maenal (gl pniite DU (So g Jao) 6yl b Sy pigeg)S Cut
bled (oo oMol (1355 pig09,)8 Slgi Cua pgd g pigeg)S Sl ao dae b (sla Cuxbga 13 9 Jol g pigeg)S 5l o)

. pl=[abcdefgh] o1 s el ,=[11001000
My s rissr 1o =[12345678] 7 sl o ]

Wis8 oi909,5  Childl=[ab34e678]
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a0, 3,8 s Codgase o Slawe slp b9, ol s(CrOssoversinglepoint) ol dai G gy Nes 3,Slos 0450

03 9 ol g pigesS 3l aae cpl I B sla (05 29 (o0 M mrens it S5 g 4 (o uone D S pigegsS i b (4]

S (o0 Mgy (55,8 pojgeg)S g odd cuS e b g Sl pgd Wlg pigeg S Sl I Sl am pigeg S sl

pl=Jabcdefgh]

Mg s 259095 P2=[12345678] V=00 MJgf pusuo dae

Mj8 ei909,5  Childl=[abc45678]
Sl 0l 58 s Codgize obs Pl sl igy pl ((CrOSSOVErtwopoint) ¢l aki g3 zugy Klas 3,Slas 0950
Pig9)S 1N 5l am o M osse I S (sla ()5 9 (0 W5 rowad it a9 S0 (0 N g M oo Sde 93 pigeg)S i o
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‘ pl=[abcdefgh]
Vg s 239295 1o =[12345678]

5 9 Y =olud ..\.Ja.: Too Sie]

My 03909, Childl=Jabc4569h]
b Codgimo b Pluw (glp 508 i ey oloie 4 ey ol (CrOSSOVErintermediate) Luly zuos Xlos 5,Sles o5
= ) Ratio yuel)ly jl cusl p3¥ jolaie oyl (gl oled (oo Wy (sl pigog)S S5 &y phi8l S35 Cpgo ar gy el 2y 20,8
S oae Ratio 5,8 i jlade g0 oolatul i dlaly g (Lib paowad pusio D Jobo 4 4 SO L g dde S$ Gygo 4 Ly

child = parentl + rand * Ratio * ( parent2 - parentl) ool paouad (sl pouiito olod (sl

Cowl (S0 Sygai] p )3 X555 oo 518 Wy slo pigegyS w158 sla pigeg)S Wil S g yho o RAtIO &S J)gw

D903 02lawl 25 yetwd I Ol (o0 pebl (nl walal Cura L9d &Blg Wlg sla pigeg)S 05k Sl )l 5,8 e pjgegS
options = optimoptions(‘ga’,'Crossoverkcn’, {@crossoverintermediate, ratio});
g o0 03! gdus ludse jlratio gl
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L Alg pig09,S 5l (oo alold 13 155,8 (sla pig09,S ¢ ybg, ol ,» (Crossoverheuristic) LS| zugp Klos 3,Sles 0450

5 pisess & S35 bg ()90 Oliwe e S 255 (0 JLB S Baa wlT L g pigeg S I )90 Alols )3 g yine Bus U

Ol 33 4 Casl j g0 4 lg 50358 po5a0)S cym by Bl (o0 VIV yalyly cul (28 (g P 39 o0 o3latl RatiO ol
: : ] 1D 68 o Bua U 5l S Wy pg;
child = parent2 + Ratio * (parentl - parent2) Potn st S b flete s pojse s
29 (o o3l 5 yeiwd JRAO yiel)ly (6,8 i jlade s
options = optimoptions(‘ga’,'CrossoverkFcn' { @crossoverheuristic,ratio});
Wy pi909,S ol wSle 51 355,85 sla pigeg,S (o9, o), sCrossoverarithmetic) olus mop Ko 3,8k o450
Doy Jinlgd dxge diuad 0l g5 135,8 sld pigeg,S Cls pl 3 b Codgae g e Do 43 ] e Cuny
239 Uiy i sy (63959 b yhaine a6 FUNCHION 51 osliwl b ol p3¥ olgsds zugi Slas iy g 150
xoverKids = myfun(parents, options, nvars, FitnessFcn,unused,thisPopulation)

Bun o FItNeSSFCN (puouns (ol pusio dlaxs :NVArS wly sl p590,5 51 >, )by parents (xb oyl ,
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xoverKids = myfun(parents, options, nvars, FitnessFcn,unused,thisPopulation)

2axs )3 Cumen 030l Sl b ww o j5 29y Sl o pweusd puiie MU 4D Cames o)l slel b s 5l sthisPopulation

Al oo o) B gl sla pigeg)S odimd U &S Cunl prenal poite

Sl 465 4 gugp Sloe b Ladye b cul pj¥ il Jas Sygo r gwyp 390 dlue b Cudgdome &5 Sy 50 Cowl S5 4y 3

ol s e slo Cadgioms dg29) ygatl pe > dnled slol ) b Codgie (pl odd Wg W58 (o pigeg)S 45 35 xS

D)l0 Cygpo b Cudgise

5 Ml b iy sy pige9,S Jols a sm Jus Cumex 5l ooy ol o Name > ‘CrossoverFraction” obsl b e
2 p3Y sl <IN ol pl (58 Sl sl Dged s Cute Jlake G Lawgs ValUE 3 1) w55l o 35 g Sles by

Sldas 1.9)4.0 ploul Ao 4 yoo Ol g 04 o plul s Sldes ol cpl lp SO Hhde Gl Syge o cunl S

3

/ Al (oo b pi9eg)S g9y 2 M
b,o L g Value s iter’ o le @l b age Olgs 4 oliwd 3g, sdnlie 6l Name ,» ‘Display’ ol @jygw >
~al,5 Value ,» 'off’ Clsesl b (ol app 0y9d (b o b lgs isles pac b g Value s 'final’ &l L Glgs oles e

options = optimoptions(‘ga’,'Display’','final’); D9 (50
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S s 5D i ey Jad s gla p5909,S 5l dlawi dx aS g5 asuie ly 0 Name p ‘EliteCount” sl b @

Ol 028 Ui e 98 e odlitwl Value 3 cute usms d3e G 5l s p5g00,8 a8l cps 15,5 1,8 edlitwl 340
A5b . ceil(0.05*PopulationSize)
acbl ;I Value ,» snis asuie jlade 4 Gun o Jlade o, b olg o Name s ‘FitnessLimit’ cbl ojge o
Gaa mb Hde )3 Bl 8l dxe 4 oS conl -INF a8 ol (0,8 i JlEe 0yl Jos a4 (6pSels (gile algs a8
Ban @l hly (n) 3)1 Cumen 33l 4y 51 it sl 6Bl &5 eige0)S ol 3 &S cunl sl sy icrowding ouyyy
Gan mb gilw whie cla g, 5| S pb Value > 4 ‘FitnessScalingFen’ 5l Name s col o5 jolaie ol (slp il

Dol ol
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O.g“ )’1 o3t ‘.: .Lulm s° g,u»l;.o gl}’a}l ).il.o..c oo\l SR> ‘) <\.¢J91 O égb' u‘)uuu oj[g é§‘9 e O égb’ LS}"“’ u»h.e.o LSL“’ 02’9)

Olyss 05l g2 didlgs 13565 0 (2L QL] Jluas] jlaidl (oo (6 5VL oad olide Ban LU lide (Ll &5 2la pjgeg)S" 29)
Wbly (g 03l (Shld o (ol pdlie (pl &S yge )3l S50 SuBf pi oSl 3 Shes g9y 2ol ulide polie i U
slas plo goma el @i )oSl 4o )3 g Wgd (o QLI Cio o 4 oAl olide Ban 1l 2V plie b ala pigeg)S
il 1 pigeg S (ooled 0dd wlide Bun @l Clpnsi ojl (39 Sa g8 Cjge 0 8 S sk 4B (o s ) dage
D9 (o0 plol (S Caepur b g 2 loj pmina Glles I g 35 dialgs )ly65 0 Slal > Slusy

ke Bad @b (55l (wlie s (10,

ool 1/ dal 5l oolital b chan @i & aogi b o <Sye pigegsS (M) 4y obol (g, ol 5 Hfitscalingrank
0P Ui Ol 4 3,%usy nl 298 (o oollael sl pigegsS Sl sl il Ly il sbl e Jos ol D9 oo sl

Dy (P O )‘ ‘) RV c.:la SELY OD):M.? l.: b.u).o u‘)a‘ 0”9) U" o] d)‘.w u».:l.dbo 0”9)
options = optimoptions(‘ga’,'FitnessScalingFcn','fitscalingrank’)
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function expectation = fitscalingrank(scores,nParents)
scores = scores(:); [~,1] = sort(scores);

3l oo g ©yge 4 o9y (ol b lasiye oS

expectation = zeros(size(scores)); C:\Program 1 o]
expectation(i) =1 ./ ((1:length(scores)) .» 0.5); FilessMATLAB\R2022b\toolbox\globaloptim\globaloptim
expectation = nParents * expectation ./ sum(expectation);
180 . T o 7 . . . .
160 - S éjb ‘:'3‘9 )U.O.o KPS @U KW, dalg}.o )‘..\.3.0
el
140
5 =
120 - "
2 100 ;‘; &
2
@2 80+ % g
@
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No. of chromosome No. of chromosome
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bl (oo (g3l oliie 4y pludl pg0g)S a Ban &l jlade & 4295 b by, o HTitSCAlINGPrOP’

options = optimoptions('ga’,' FitnessScalingFcn', fitscalingprop’)

function expectation = fitscalingprop(scores,nParents)
scores = scores(:);
scores = 2 * mean(scores) - scores;
m = min(scores);
If(m < 0)
scores = scores - m;
end
expectation = nParents * scores ./ sum(scores);

& N w o o . . o e . . - 1£:3 - 1
pigessS slw a9 bl oo 5055 5 ol g Vb (ulie S 5l (eb Jus 5y sl pgeg)S 5l suoyd by, ol 5> HTitSCalingtop

213 yess QUANTILY ol,b 5l ooliiwl b ylei o oS ol +/F bl oy cpl (6,3 i lade il o olaid] o yolio da
options = optimoptions(‘ga’,'FitnessScalingFcn',{ @fitscalingtop,quantity})
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function expectation = fitscalingtop(scores,nParents,quantity)
If nargin < 3 || isempty(quantity)

quantity = 0.4,
end
scores = scores(:);
If quantity <1
guantity = round(quantity * length(scores));
end
expectation = zeros(size(scores));
[~,1] = sort(scores);
expectation(i(1:quantity)) = nParents / quantity;

GBan 2l 4 Camd b 5j509,5 Bun mli Lawgio > FALE col sae Cyalols sl p by, o), : TItScalingshiftlinear’

b o polaidl pigeg)S ke 4 b pigeg)S Bua b lawgie o (¥
options = optimoptions(‘ga’,'FitnessScalingFcn' { @fitscalingshiftlinear, rate})
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function expectations = fitscalingshiftlinear(scores,nParents,MaximumSurvivalRate)
If nargin < 3 || isempty(MaximumSurvivalRate)

MaximumSurvivalRate = 2;
end
scores = -scores(:);
maxScore = max(scores);
meanScore = mean(scores);
minScore = min(scores);
if(~isfinite(meanScore))
error(message(‘globaloptim:FITSCALINGSHIFTLINEAR:finiteScore");
end
if(maxScore == minScore)
expectations = ones(length(scores),1) ./ length(scores);
return;
end
desiredMean = nParents/length(scores);
scale = desiredMean * (MaximumSurvivalRate - 1)/ (maxScore - meanScore);
offset = desiredMean - (scale * meanScore);
if(offset + scale * minScore < 0)
scale = desiredMean / (meanScore - minScore);
offset = desiredMean - (scale * meanScore);
end
expectations = offset + scale * scores;
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asuie [, alaws G by Bue ml s Ol s bwgie ailin] g o Name > ‘FunctionTolerance’ ol L

Sl L aS) Jascie H,S5 sl G b Bua @b s Olpuss bawgte asslis bl ol g0 s Value p |,
IS 0 ol (oyd i e wed e e VAlUE  cute s 3ae S g Name > ‘MaxStallGenerations’
S5y ppY sl 1070 @l aliol (5,8 e e ed o ibyio (5o dingy piysS)) el yieS ailiw] ! 3l (el
bugio dwlxe b Malue ,» 'geometricWeighted’ ;I osliwl ¢ Name ,» StallTest Clbssl @90 45 ol
Name ,> StallTest 5,8 i Jde g o ooliiw] Bun ob s Sl 59 bwgio | Ban b aws &l s

5L . Value ,> 'averageChange’

Siled 5503 (ol dingy wuy o SOl S g Hlade 8L 1 ekl cas oy 0 Name > ‘HybridFen” ol L e
2g05 odlizwl Value ,» 'fmincon’ § 'fminunc’ /patternsearch’ /fminsearch’

options = optimoptions(‘ga’,'HybridFcn’,'patternsearch’)
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QS o Coley |y ange lad &S Lla Ulgs b Lbsye adgl ac > Jlde ol o Name > ‘InitialPenalty” olsel L

ol Vo dde (58 i HlaEe g0 Byme VAIUE 3 cute dae KO bawgs
it a5 )Y Cames o3l slal b s e SO 48l,l 3 Name s ‘InitialPopulationMatrix” 5l aJgl Jus sJg cas>  ®
oMl Cunon 05l05) 5l 68 e sy gl ouds a8l o Slo 4T Syge 53wl D p3Y gd o edliwl ValUE yy peias

sravn ,ncfssentif@)ag = [pop_lanif,tuptuo,galftixe,lavf,x]); S5 oo agl <l !

options = optimoptions(‘ga’,'InitialPop’, final_pop); dioxe (gl (gl adgl Cumar lgis 4 0ad Wg gl Ay Camer I oolatl
[x,fval,exitflag,output,final_pop2]= ga(@fitnessfcn,nvars,[1,[1,[1.[0.[0.[1.[],options);

s o5 1SS e b ladye jbre oib b aad o )8 1y Kl ol Name s ‘InitialPopulationRange’ ;i eslawwl
o)\.: U"‘ Colgdo 9y le.um LS])" J..:Lo.o ua?o.wa u.u.’)JLO l.a 9 )‘D).g LSJ Sy A Value )9 4.».‘9‘ J.w.ﬁ ._\.Jy > ‘) f)yos;
g oslawl [Ib;ub] 5l ol o5 wwosgasme (lyly Pluwe (clp g el [-10;10]
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LValue 1) il augs vi,65) ! cas aise cla,l S5 sl 4l o Name ,» ‘MaxGenerations’ ol L
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sl Cuxes 05101 b e <l Malue » &G g oo o e K 1)1 g Name > ‘MigrationFraction” ol L @

Cuma 0jI1 ST Jlio (lgis dr 3905 (sl |y 85565 (o0 )18 o2liiol 3)90 (gmy s )3 &S (b i ) (g3 (lg8 (oo it
Ngd g0 Jiie b s & JB Jus pigeg)S Vo oS )5 bl /¥ Value g aisly Ve 900 i a (b g (LS
IVl d e e
55 o 1 piseg)S n i il 5 03)5 Sl b pises)S (it dden o Jud oy 53 b pigeg)S plae a3 ) 1SS
O pigegyS Oylee wnld ol e Value p cue s 30e S @)  Name > ‘Migrationinterval” Clssl L
OSSOy 3l e g 48,5 Lo 30 Ll Value jlude 31 e lgie 4 905 fni aduie H1,SS olaws SOl e |y s
sl Vo b plp 1238 Wy Jlde 290 (00 plxil o Juus (g 5095 ©p2lee Sliloe

Slos Jlosl 0956 g 0 Malue p iy Slee b iy ol 5l S b 1)l g Name ,» ‘MutationFen” Glsesl b @

Slage oS odd o pigeg)S 10 (SdyuS g gl dboml & i Slas (pl &8ly )3 D50 (pnd b piseg)S 59y p |y e

o] grono dis (ghy dely Plus gl @l cnl cusl J5 4 p5Y 9 o dage adlaie I (g5 0358 (slad 3 (goominn
RPWIPN



ST Syl b palddd 055 g (GA) S (gl 0 iy 5531 (3 20
las slael oyly 55 )5 Codgie ek Pl gl &S 59, o) (Mutationgaussian) ¢l 4655 ins Nles 5 Slas 0950
4 9 o ol SFINK 5 Scale ol g3 (slue p 457 (G)lne Bl g jao (S0ke b ((woS) ) U555 @i olel )
03k bl 2 g 88 oo oyt 1y ST (gl b laye Jlne Glioudl jlade Scale ol ST g0 aLSI g pig0g)S sla ] ol

Sy sy 4 V(1) g V(2) aaly ol )3 g8 0 dwlxe Scale®(v(2)-v(1)) ©)se « (Initial Range) b 5 <l

Al (o ol (gl yuilo Dluad )3 (3 93 Sl b () po (gl odd iy pad ol 9 YU g0 (55>

2led (oo 65le dinge 2l B (b 5> e LBl youl s

O, = Ok _1 (1 — Shrlnk : ) .
Generations s Generations 45 K 1o lae Glosl O daly ol 5

i3 1SS )3 3 he Jlade 4 ol U ad Oygo 4 jlae Llysal Hlade Shrink pel )b 4 G jlade @l b el b)) S5 IS

(18h o S b pl bl 93 cnl 488 i polie) 39 oo odlitul 5 et I el 93l pelal ST

options = optimoptions('ga’,MutationFcn',{@mutationgaussian, scale, shrink})
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Do ol A Olgs b S A e Bl e ST e dn g BB 158l (ol A5 i Nes j eolitul gy 1SS

il oo )5 (b )3 pigeg S 59y » e bawgle jlde Ryl ol e

Al o 93 oy 3,0, Codgasme yads Pluw gl a5 g, opl (Mutationuniform) csless Jias Klee 3,Sdes o450
il ol LSS

S (Srye  D9d (o0 Mg (Bolai dae o 0f p» Gln pslaie (nl (Sl Wgd 0oy pusi Lb pigeg)S e &5 ol f Gl -
Jel can o5 ol 09 S (+10) (o8 i e L) o8 buwgs sais asuie (Probability rate) Jlus! 5 5l sae o)
DyS o B 425 390 slaide Dl

5 g5 o3 cpl ) (Bolad jlade S prenad pmiie) ()] p2 jlre Olpeds 0jl ulul oo sl () > Sl Jlesl can Y
D)5 (0 39290 () sl (il

295 (g0 0wl 5 ygd Sl Jlaisl £ 5 jlude s Ca

options = optimoptions('ga’, MutationFcn', {@mutationuniform, rate})
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- ('gaplotscorediversity’ L) @gaplotscorediversity b -
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options = optimoptions(‘ga’,'PlotFcn’, {@plotfunl, @plotfunz, ...});
Sl Jaise U oL ... g plotfunl ¢ g w4
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expectation = expectation(:,1); b (wlhido Bud U ,ludo gl 8
wheel = cumsum(expectation) / nParents;
parents = zeros(1,nParents);

% we will step through the wheel in even steps.

b (whie Bud &l rosdi (lude duwlw

stepSize = 1/nParents; o 5310l &y g5
% we will start at a random position less that one full step

position = rand * stepSize; CurBgo Ly p23
% a speed optimization. Position is monotonically rising.

lowest = 1;

for i = 1:nParents % for each parent needed,
for j = lowest:length(wheel) % find the wheel position
if(position < wheel(j)) % that this step falls in.

parents(i) = j; Ol ! JoS o suawi (wlie Bud i jludo 1 03909,5 Curlge &5 Jloj U
lowest = Dgm (g0 LN 05909 ,5
break;
end
end
position = position + stepSize; % take the next step. D By y25 o5 031] Ay angi b 95909, plw LG Cpa CunBao (Wil 38!
end

L ol . (C:\Program Files\MATLAB\R2022b\toolbox\globaloptim\globaloptim ,... ,> il5) selectionstochunif ot 3 Examplel_GA Juo ool 5

A5 sl Ol Klee ol S,
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-

O ige9,S b Bua mb pue polie daw 4 by, o), s(Selectionremainder) ssladl bl Klee 3,Slos 0450

D9 (o0 Joo g3l plide bl oo s Ban LU L s pigeg S (sl 298 (o0 Ol dn s bl e pjgeg)S

parents = zeros(1,nParents);
expectations = expectations(:,1);
% First we assign the integral parts deterministically.
% Load up the sure parents and leave the fractional remainder in newScores.
next = 1;
for i = 1:length(expectations)
while(expectations(i) >=1)
parents(next) = i; Teomo 38 Bani 4 oo i (wlhile Bud &l (g9l (Gd 959095 L]
next = next + 1; . ,
expectations(i) = expectations(i) - 1; B2 &l 2 220
end
end
% if all newScores were integers, we are done!
if(next > nParents)
return C:\Program O 5 8lg) selectionremainder &b 9 Examplel_GA Jke bl »

end s ksl bl Sles ol 59, b oo o (Files\MATLAB\R2018b\toolbox\globaloptim\globaloptim
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% scale the remaining scores to be probabilities...
Intervals = cumsum(expectations);

Lad Oy90 4 goue 248 puE Bab Bl (g9l sailesl I 909,85 ]

intervals = intervals / intervals(end); Sad b 45900 (wlie (Slae 0 g
% take the rest by chance.
forrk_=rar;]ed><_t:nParents ol s «(selectionuniform) caless Cbwl Slae 3,Slae 0950

for i = 1:length(expectations)
If(r <= intervals(i))
parents(k) = i;
% make sure this one doesn't get picked again
expectations(i) = 0;

odlitwl (g i g5 ez Alg sla pigeg)S 5l Bolal Oy 4 s,

s W‘“‘)‘é a>90 slas )2 ‘) u-t'”t“’ (8 9> C)L{‘"‘ O09) &.}.’.‘ Do (o0

intervals = cumsum(expectations); expectation = expectation(:,1); =
If(intervals(end) ~=0) % nParents random numbers
. (ljntervals = intervals / intervals(end); parents = rand(l,nParents);
break: % integers on the interval [1, populationSize]
end parents = ceil(parents * length(expectation));
end

end

options = optimoptions(‘ga’,'SelectionFcn','selectionuniform’);
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sl p5909,5 Wdgi 4 o8l 10,3 5 5,50, e w0 by, opl y (SElECtionroulette) b3 & cbl Klee 5, Slae 0450

s 03wl 3 yeiwd | Cunl p3Y jelaie pl gy bled o M s
options = optimoptions(‘ga’,'SelectionFcn','selectionroulette’);

function parents = selectionroulette(expectation,nParents,options)

expectation = expectation(:,1); b wlde B aili Jlade Jlgsl
wheel = cumsum(expectation) / NParents;  s.i olie dus mli ress laie dwlxe
parents = zeros(1,nParents); L oae. ol s dselecti b & . Radl £ ,
_ y ey ol o s(Selectiontournament) cool,s sl Slos 5, SKlas o
for 1 = 1:nParents S ol 2 ) v -
r = rand; 4 drg bhled (oo s Jus b pigeg)S Mgl 4 pludl Cislyg 5 S0, I oolit
for ] = 1:length(wheel) ) o ’
if(r < wheel(j)) P lie (e g Mg (o el dlwd (piiz 4 by pigeg)S (hg) cnl 0 4L
parents(i) = J; cpl 53 (S1Z€) b atwd luwi 3959 11 03,5 o Llsl sy Juws g A1 )8 53 dtnd
break;
end il (3938 b9)
end

end options = optimoptions(‘ga’,'SelectionFcn',{ @selectiontournament,size})
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function parents = selectiontournament(expectation,nParents,options,tournamentSize)
if nargin < 4 || isempty(tournamentSize)
tournamentSize = 4;
end
playerlist = ceil(size(expectation,1) * rand(nParents,tournamentSize)); ;> (gld awwd dlaxi 4 dagi b g (Bobal Cjao 4 b 05509,5 5]
parents = tournament(playerlist,expectation); N
function champions = tournament(playerlist,expectation) St i858 58S
playerSize = size(playerlist,1);
champions = zeros(1,playerSize);
for i = 1:playerSize
players = playerlist(i,:);
winner = players(1);
for j = 2:length(players)
scorel = expectation(winner,:);
score2 = expectation(players(j),:);
if score2(1) > scorel(1)
winner = players(j);
elseif score2(1) == scorel(l) && ... (length(scorel) > 1 && score2(2) > scorel(2))
winner = players(j);
end
end
champions(i) = winner;
end




OT S ol 5 padald 0920 9 (GA) Sidj (wi g1 2 it 56531 (B p20

Ot sl s ml jlde g0 JBlis cas 5 ysiwd 5l cewl 23Y 3L Problem-Base go5 5l (gl diy dllue 45 Sy 40

X = ga(problem) 205 03] GA v ;6N 5l oolasinl b puouad (ol yusiio diipo jlade

«problem.fitnessfcn <problem.solver <problem.options ke p; Jeo slagell cwl #;¥ probem

o e . ) Db L 423 ... g Problem.nvars
GA Juo a1 ol (yre g (55w dit o Ly o3 S 5Lid 590 (51 o,y Jgon

fitnessfcn Fitness functions

nvars Mumber of design variables

Aineq A matrix for linear inequality constraints
Bineq b vector for linear inequality constraints
Aeq Aeq matrix for linear equality constraints
Beq beq vector for linear equality constraints
1b Lower bound on x

ub Upper bound on x

nonlcon Monlinear constraint function

rngstate Optional field to reset the state of the random number generataor
solver ‘ga’

options Options created using optimoptions or exported from the Oplimization app
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Qb 6y g Gy b prenad oo &S JSyee  oly o Value s ‘true’  Name ,» ‘UseVectorized” clswl L

D35 o 518 )8 LBl 5 (g D« SBT (g5l Al w5l e
[X,fval,exitflag,output,population,scores]=ga(fun,nvars,A,b,Aeq,beq,lb,ub,nonlcon,IntCon,options)
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1ol 5 Sygo a4 dlael ) ponds g o 0313 ioled prsts dae G Gyge 4 S o yeNl gl B Y exitflag

b Bun b oot Clynsd bawgie 0g aS Byl cle Al las pé Cudgdzme ek dllie 45 jew 0 S0 das ©
I b ocodgime s ol 9 FunctionTolerance . 51,1, MaxStallGenerations
cwl 508 ConstraintTolerance

complementarity jasls g oS iy cle sl s ué Codgize bbb dlus &S Syee 3 1 SY das
ConstraintTolerance ,is 5l (CiA;) $1,5Y coypo 3 oluwsl as pe Cudgime (dde Hlade wpalols) Measure
b5 e g FunctionTolerance i 5l 51,5 MaxStallGenerations L s Gua b reos Olpuss bwgie
cuwl 508 ConstraintTolerance jl 55 b codgime

b3 olise 9 FunctionTolerance 4 o3 yuss 90 MaxStallGenerations L > Gua b lde :dw das

cwl 508 ConstraintTolerance ;i 55 b codgime
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i b cudgazme (Jasd lime g odd SogS Hlaw die oz Cundg wyp S prendl joiie Olyndd liee e das

cwl 508 ConstraintTolerance

55 e g (Gl Coled o e (B8 iw job 4 &S) FItNessLIMIt jo oad oy yei Jlide jl Bua b jlase zey dae ©
cwl 508 ConstraintTolerance ;i 55 b cosgise

ol 0ds i MaxGenerations ;s suds < ya jlade 1 b)) S5 ol 1 o dis @

ol 0dis Iy ol 4390 Olo> e =Y D

ol i MaxStallTime s oads fpuss floj e Hlade 5 ol aiidls (6390 Bin 2 lade a5 Jloj de =¥ 20 @

Cawl 04y MAXTIME )d ol pund o) e Slide 51 (o5l ato 4ol sl floj te =0 Dus

SR o0 45‘)‘ u.’?.uw )‘D).g;i:{ G ygo & ‘) ).:).: JMJL).L:L.»A O é.’l.: )‘A.a..o :ScCores
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LBl (o ) b 4 SleMbl ulamd (oo 415 )8 JLas ] )3 Ay Jlde 4 oliwd Xy ogas > (SleMbl:output

wrods (slbyuiio 59y p Cwdedme L (UNconstrained) cusguise en) |y oas > dlue g4 :Problemtype ©
5 (nonlinearconstr) 1 ¢ ¢l codgime (linearconstraints) s s codqie (bOundconstraints)
And o ol ((integerconstraints) puswe sue Codgie

A o ol 1y ol pll 41,SS slaes :Generations

Ll o 1) Gan b avsl=e b slaw :FUNccount e

Do oo 03 LS (o5l Ao el LiBy LYs :Message ©

ABY o HUiS D39 Sygeo 1y ol Il gla Codgie I Jast e Slis [Maxconstraint e

yuiie Daas 43 (PopulationSize) cozes ojlbl slel b s ylo B 3 1) aigs (sla p5909,5 (g9l Jus o5 0 spOpPUlation
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Minimize f(x) = 100(x? — x,)? + (1 — x1)?

X1. Xo+tXx1-X,+1.5< 0
10 —x1.x, <0

0<x;
0<x,

<
<

1
13

ddgl jlado <y 25

Ales Jo S5 oo 5l olital b1y 25 (3l At Wle (e

clc

clear ’ |
ObjectiveFunction = @simple_fitness; — <4» &b«

nvars = 2; % Number of variables aoacs (G ptilo dluai By 2

LB =[00]; % Lower bound

UB =11 13]; % Upper bound o o

ConstraintFunction = @simple_constraint; <5575 S& Sadgisme < =

X0 =10.50.5]; % Start point (row vector)

options = optimoptions(‘ga’,'PlotFcn’,{ @gaplotbestf,@gaplotmaxconstr},...
'Display','iter’,'ConstraintTolerance',1e-7,'InitialPopulationMatrix’,X0);

[X,fval,exitflag,output,population,scores]=ga(ObjectiveFunction,nvars,[],[]

[1.[].LB,UB,ConstraintFunction,options)
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Dged (Byxe Suilf win oSl 4 (5l ©yge ]y Ban @ Gy (o i Bun @l > ol sl el 2929 )90 )

Alos Jo S5 ot gS 3l ealisl b 1) 25 (55l dtuge Wlns (Ui
Minimize f(x) = a(x? — x,)? + (b — x;)?

-3 <x, <3
Sl @90 a4 Sad &b by a5
function y = parameterized_fitness(x,p1,p2)
e y = pl* (x(1)"2 - X(2)) "2 + (p2 - X(1))"2;
clear
a = 100;

b = 2; % define constant values

FitnessFunction = @(x) parameterized_fitness(x,a,b);
numberOfVariables = 2;

Ib = [-3,-3];

ub =[3,3];

[X,fval] = ga(FitnessFunction,numberOfVariables,[],[1.[1.[],Ib,ub)
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Do Jles]

b i3y aly 3 098 (o s X(1, 1) 4 (1) jusio K03 Sl 4 sylop polie &) maonad slojpusito 1 SO o s 0
Al oo W pigeg)S (oled ) pll wpeual yiie e Sl

b yosiio (o p Clawlbro gz o/ 9. N o ¥ a4 [N okl i g plgs oy cla Shee fas

(options = optimoptions(@ga, UseVectorized',true);) .options ,> true 4, UseVectorized a5 *

les duslio wa Uy b T cglal o 5 4iles o oyl 5 CKuwdlS (K55 o 51 30l b 1y 305 (ol tage e (Lt
Minimize f (x) = a(x{ — x3)* + (b — x1)? 31251 90 43 (550l Bad 2 g 525

—3 < x; <3 function y = vectorized_fitness(x,p1,p2)
~3<x, <3 Y =pL* (X(:1)22 - X(:,2)).72 + (p2 - X(:,1)).2;
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clc
clear
VFitnessFunction = @(x)vectorized_fitness(x,100,1);

FitnessFunction = @(x)parameterized_fitness(x,100,1);

b =[-3,-3];

ub =[3,3];
numberOfVariables = 2;
tic

options = optimoptions(@ga, UseVectorized',true, PopulationSize’,10000);

[X,fval] = ga(VVFitnessFunction,numberOfVariables,[],[]
% options = optimoptions(‘ga’,'PopulationSize’,10000);
% [x,fval] = ga(FitnessFunction,numberOfVariables,[],
toc

ol sl p3Y eyl Sye & dely sl Cus sl Al b (o5l auy o 2 b3 b Codgise &S Jyae

A o odlaiwl by ] (g)ls

1L
1

it
]

lb,ub,[

1,Ib,ub,

,options);

],0ptions);
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Minimize f(x) = a(x? — x,)? + (b — x;)?

xf+x5<1

§)12 5 o 1 (ot il Cudgame By p25

function [c ceq] =nonlcon(x)
—3=x =3 c(;,1)=x(;,1).22+x(;,2).A2-1;
-3 <x, <3 ceq=[l;

clc

clear

VFitnessFunction = @(Xx)vectorized fitness(x,100,1);

Ib = [-3,-3];

ub =[3,3];

numberOfVariables = 2;

options = optimoptions(@ga, Use\Vectorized',true,'PopulationSize',1000);
[x,fval] =
ga(VFitnessFunction,numberOfVariables,[],[1.[],[],1b,ub,@nonlcon,options)
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clc

clear

% load X;

%% Default options

options = optimoptions(‘ga’,'Display’','iter', PlotFcn’, @gaplotbestf); Wlo Jo S 1253 i y23Lo 51 03Likus!
x = ga(@rastriginsfcn,5,[], [1,[1.[1[1.[1.[], options);

%% Limit the MaxGenerations and MaxStallGenerations S35 dlaad g 41,50 slaad e oo 43y
% options = optimoptions(‘'ga’, Display’,'iter’, PlotFcn’, @gaplotbestl,.., sua sl og coli o, o pin,s S
% 'MaxGenerations',500,'MaxStallGenerations',Inf);
% x = ga(@rastriginsfcn,5,[1,[1,11,11.[1.[1.[1,0ptions);

b dold] Wilgs

adgl lale s A oo cprd A Hlade (o g3 1 o3lEw]

%% Use InitialPopulationMatrix in optimization process Ly dins sl als] N
f,,,fS) ke ] 52 SR oA (LD yarRad

% options = optimoptions(‘ga’,'Display’','iter','PlotFcn’,@gaplotbest
% 'MaxGenerations',500,'MaxStallGenerations', Inf,'InitialPopulationMatrix’,x);

% x = ga(@rastriginsfcn,5,[1,[1.[1.[1,[1.[1.[],0ptions);
% save X X;
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led > (K55 o ysSl 51 o3l by el pmaiio 3 Jlos! L 1, RASIIQIN sl (Jleo

clc

clear

%% Too little diversity L 059095 Curon (595 12 2l sl £95 Jlos]

options = optimoptions(‘ga’,'Display','iter','PlotFcn’,{ @gaplotbestf,...
@gaplotdistance},'InitialPopulationRange’,[1;1.1]);

x = ga(@rastriginsfcn,2,[],[1,[1.[1.[1.[1.[] options);

: : : b o overes 3 YL b 95 Jlos!
%% Suitable diversity giad B9 7 TRy £

% options = optimoptions(‘ga’,'Display','iter','PlotFcn',{ @gaplotbestf,...
% @gaplotdistance},'InitialPopulationRange’,[1;100]);
% x = ga(@rastriginsfcn,2,[1,[1,11,11.[1.[1.[1,0ptions);

i i i L o] Caaros cowln 40 Jlos!
%% Too little diversity P39 Soned 59 2t el £55

% options = optimoptions(‘ga’,'Display’,'iter’,'PlotFcn’,{ @gaplotbestf,...
% @gaplotdistance},'InitialPopulationRange’,[1;1.5]);
% x = ga(@rastriginsfcn,2,[1,[1.[1.[1,1.[1.[],0ptions);
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Cawl p3Y bl pl o 0yls (0L JSU ange clad (somins 095U pizmed g S5 oMl | co g b o5l wlide
fitscalingtop <fitscalingprop <fitscalingrank ,, loiis 45 b i, opl 4 00 45 (g5l dings Jdo ol

clc

clear

options = optimoptions(‘ga’, Display','iter','PlotFcn’,{ @gaplotbestf,...
@gaplotdistance}, FitnessScalingFcn' { @fitscalingshiftlinear,40});

% options = optimoptions(‘ga’,'Display','iter','PlotFcn',{ @gaplotbestf,...

% @gaplotdistance},'FitnessScalingFcn', 'fitscalingrank'’);

% options = optimoptions(‘ga’,'Display','iter','PlotFcn',{ @gaplotbestf,...

%  @gaplotdistance},'FitnessScalingFcn','fitscalingprop’);
%

% options = optimoptions(‘ga’,'Display','iter','PlotFcn',{ @gaplotbestf,...

% @gaplotdistance},'FitnessScalingFcn', fitscalingtop’);

x=ga(@rastriginsfcn,4,[1,[1.[1,11.[1.[1,[],0ptions);

335 313wy 3590 3L o FitSCalingshiftlinear

wronal gt Hlox Jlesl b 1, RASIIQIN &b (Jle
les Jo S5 o yoNl 5 enlazl b
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3 )l )3 duglie )90 |y zulis 9 03905 o
options = optimoptions('ga’, Display','iter','PlotFcn’,{ @gaplotdistance, @gaplotrange}, ...
'MaxStallGenerations',200);

x=ga(@rastriginsfcn,4,[1,[1,[1.[1.[1.[1.[1,0ptions);
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clc
clear
% options = optimoptions(‘ga’,'Display','iter’,'PlotFcn',{ @gaplotbestf,@gaplotstopping});
% x=ga(@rastriginsfcn,2,[1.[1.[1.[1,11,[1.[1.0ptions);
%% With Hybrid Method
options = optimoptions(‘ga’,'Display','iter’,'PlotFcn’,{ @gaplotbestf,@gaplotstopping});
fminuncOptions = optimoptions(@fminunc, Display','iter’,’Algorithm’,'quasi-newton’);
options = optimoptions(options,'HybridFcn',{@fminunc, fminuncOptions});
x=ga(@rastriginsfcn,6,[1,[1.[1,[1.[1.[1.[],0options);
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EBest Mean Stall

Generation Func-count fix) fix) Generations rb*’)}i” Lz.wy 4“'3)’. d‘P‘ Aol "’
286 57400 1.05 294 .3 39
287 57600 1.05 275.9 40 "y L515 Ao 9]9? )L\;i,o (SaawMS
288 57800 1.05 292 .8 41
289 58000 1.05 273.5 42 sl o bl Bas 2 L Jsles
290 58200 1.05 280.7 a3
291 58400 1.05 296 a4 T s
292 58600 1.05 257.6 45
293 58800 1.05 253, 4 45 KT . . P p—s
294 59000 1.05 274.3 47 ol S Gl cap ol Y s
295 59200 1.05 273.9 ag
296 59400 1.05 290.1 a9 Sl Ay Jho iy Sl 09
297 59600 1.05 287.3 50

Optimization terminated: average change in the fitness value less tha )‘)‘9 ‘P‘ )90 )Lf P ‘) 0w 'y 9
Switching to the hybrid optimization algorithm (FHINUHNC) .

First-order Q‘ ¢y “-"]9> 29>9 Cygo D b ol
Iteration Func-count (=) Step—-=size optimality
0 7 1.04997 23.4 At g o Sl Gles 4 Ol
1 21 0.470893 0.004279139 15.6
2 28 2.13714e-05 1 0.12%9 .39,,» ul.’x’b‘ u,lf
3 35 3.58637e-09 1 0.00164
4 a2 1.84741e-13 1 9.54e-06
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